H & 0l & AHS B Ml A

S BHE D
I ot Hdl & 2l
s ol EHl € 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ok 1t 263,485,517 225,485,474 38,030,043
= 122,458,945
[ 1,120,000
ES 1,100,000
< 81,806,572
H 27,000,000
= 30,000,000
ot EH| & el 252,695,017 217,028,474 35,626,543
= 122,458,945
[ 1,120,000
ES 1,100,000
< 70,976,072
H 27,000,000
= 30,000,000
ot &Hl & 2 252,695,017 217,028,474 35,626,543
= 122,458,945
= 1,120,000
e 1,100,000
= 70,976,072
H 27,000,000
= 30,000,000
SHEDIZHE - (HEAY) 1,501,900 2,003,800 /501,900
401 Al HIZL 201 1,501,900 2,003,800 A501,900
01 Al&H| 1,500,000 2,000,000 /500,000
OstaJ|IZAHE +~8 1,500,000
03 AIZ2THYI 1,900 3,800 1,900
Odt&EI |2 A& -8 1,900
X5t ZHIAMS(C)(HEAIY) 68,800,000 72,000,000 A3,200,000
== 38,800,000
= 30,000,000
401 AIEHIZ R HYI 68,800,000 72,000,000 A3,200,000
< 38,800,000
= 30,000,000
01 Al&H| 64,494,000 67,863,840 A\3,369,840
OXLotEEEIAI (&) 64,494,000
= 34,494,000
= 30,000,000
02 Zeltl 4,184,000 4,084,160 99,840
OXgatEFEHIAMS(E) 4,184,000
03 Al 20HHI 122,000 52,000 70,000
OXIotE FEHIAMH(X) 122,000
X5t ZHIAL(AIZ) (B EALD) 28,182,154 25,023,322 3,158,832
= 1,182,14




SAM: ol
33 ofd FHl & 2el
=9l ol EHl ¥ 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H 27,000,000
403 MR HMSAHE01H 28,182,154 25,023,322 3,158,832
=S 1,182,154
H 27,000,000
01 AXIEHM A= 2 £ 28,182,154 25,023,322 3,158,832
OXILotEEHHIAI (AIZ) 28,182,154
< 1,182,154
H 27,000,000
Aotd RX2el At 912,000 695,000 217,000
403 X SHHMSAH=01H 912,000 695,000 217,000
01 AXISHHA 22 £ 912,000 695,000 217,000
O2otd |Al2el 912,000
SEoIEEEAAY 25 45,000 45,000 0
207 ARl 45,000 45,000
02 MR 45,000 45,000
OSEoAEEAAE SN2 45,000
AYotd =X2el 3,991,500 3,822,500 169,000
E 1,100,000
S 2,891,500
403 AXIEHMSAH=0IH 3,991,500 3,822,500 169,000
ES 1,100,000
== 2,891,500
01 AXISHHA 22 £ 3,991,500 3,822,500 169,000
OBE 0I2Y %912 Jl2ls F422 £4
CREN) 69,000
OXlgotd Al RAE+ 1,000,000
OctdAlE=E d283 & | 1,822,500
Oot=dHl & 2el 1,100,000
ES 1,100,000
Klgtotd THoH ol & 3,765,000 3,095,000 670,000
403 AXIEHHSAH=201H 3,765,000 3,095,000 670,000
01 AXISHHA=2EE 3,765,000 3,095,000 670,000
OXgstd =2(82) AUs3 L SLMAAI
A 2 1,105,000
OXgotd EX&E FHH] 1,360,000
OctEAIE B - 22 At 1,300,000
2DEHEFAES(LAR) 5,000,000 5,000,000 0
= 5,000,000
403 MR HHMSAHE01H 5,000,000 5,000,000 0
= 5,000,000
01 AXISHHA=2EE 5,000,000 5,000,000 0
O=Jtotd |ANEx=(322H) 5,000,000
= 5,000,000




S BHE D
I ot Hdl & 2l
el ol dHl & 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2ot R X Ea (L&) 100,000 100,000 0
= 100,000
403 AXIEHHSAH=201H 100,000 100,000 0
= 100,000
01 A= 2L 100,000 100,000 0
O=0totd KA+ (LES=H) 100,000
= 100,000
ot Ze| e  EAL X3 255,000 267,700 A12,700
308 AHXIEMSOIH 255,000 267,700 A12,700
01 HRSHHBAEES 30,000 17,700 12,300
OHESA =0l HE 238t =8 S 30,000
2 d=u=s 225,000 250,000 225,000
Ootd & - ME7 d=u:=s 225,000
Algiotd HYEX 24 1,000,000 500,000 500,000
401 AlZ2BIXL S THYI 1,000,000 500,000 500,000
01 Al&HI 1,000,000 500,000 500,000
OXl ot HUEX 24 1,000,000
OHMQtM AR A 27,880 28,600 AT20
201 er23| 25,000 25,000 0
01 At2teltl 25,000 25,000 0
Ofde 28 S 25,000
203 HF=AY] 2,880 3,600 AT20
03 A= PR F&| 2,880 3,600 AT20
OdldH R A=A 2,880
Notd SLach 2R (EE2) 70,440,869 51,253,776 19,187,093
= 70,440,869
401 AIEHIX R0 23,843,545 0 23,843,545
= 23,843,545
01 Al&H| 21,934,529 0 21,934,529
O244 X6t SRS (0tAE, &
&) 21,934,529
= 21,934,529
02 2l 1,853,000 0 1,853,000
O24d X6t SLUi= 7 (0tAE, &
&) 1,853,000
= 1,853,000
03 Al 20HHI 56,016 0 56,016
O24d X6t SLUi=S 7 (0tAE, &
=) 56,016
= 56,016
403 THXISHMSAH=01H 46,597,324 51,253,776 A4,656,452
= 46,597,324
01 AXISHHA=2 2L 46,597,324 51,253,776 A4,656,452




FA: oA
33 ofd FHl & 2el
el ol dHl & 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXgstd Sl = 46,597,324
= 46,597,324
Xote SLIIcH S (3eH) 66,513,714 51,253,776 15,259,938
= 46,918,076
=S 19,595,638
401 Al HIZL 2048 20,802,558 0 20,802,558
= 15,579,894
< 5,222,664
01 Al&H| 19,171,993 0 19,171,993
O244 XL6td sOloi=S7(0ratd, &2
&) 19,171,993
= 14,358,697
= 4,813,296
02 22/l 1,582,720 0 1,582,720
O244 XIYotd SOiS(0ratd, 22
&) 1,582,720
= 1,185,364
== 397,356
03 AIZ 2 THYI 47,845 0 47,845
O244 XLotd sOloi=S7(0katd, &2
&) 47,845
= 35,833
= 12,012
403 TR SHMSAH=01H 45,711,156 51,253,776 A5,542,620
= 31,338,182
s 14,372,974
01 AXISHHA =2 £ 45,711,156 51,253,776 Nb,542,620
OXgotd SIloi S+ 45,711,156
= 31,338,182
& 14,372,974
20t AOIE AS2ACIAAE 715 1,120,000 1,750,000 A\630,000
[ 1,120,000
403 MR SHHMSAH=01H 1,120,000 1,750,000 630,000
= 1,120,000
01 AXEHM A =2 £ 1,120,000 1,750,000 £A630,000
O4otd ADE AH=22ANAE 25 1,120,000
= 1,120,000
Aot SSHHIHE =8 1,000,000 0 1,000,000
401 Al HIZ R0 1,000,000 0 1,000,000
01 AlZ8| 1,000,000 0 1,000,000
OXlgotd S = 1,000,000
FEHEH - L 2t 400,000 400,000
= BE 2 400,000 400,000




2A:

fns

HE 1

[e]]

M HABH - OHA 2el
e = FE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MEHSHE SRAI(HEALY) 400,000 400,000
403 AXIEHMSAH=0lH 400,000 400,000
01 AXISHHA =22 & 400,000 400,000
HENSIE SEAL 400,000
ETH O 145,000 325,000 180,000
M orMzte| 145,000 325,000 180,000
AE S3AIE etE 2t 145,000 325,000 A180,000
403 THXI M SAH=01 ™ 145,000 325,000 180,000
01 AR A =2 £ 145,000 325,000 /180,000
OAT2 SSAIE HUIAY 145,000
Heas (o) 10,244,400 7,660,900 2,583,500
SHRE(5HL) 8,796,900 6,278,400 2,518,500
XN (Ss=8012 XUHLS3) Ol KHate 6,278,400 6,278,400 0
311 XS0l Aratat 6,278,400 6,278,400 0
2 Sat=8) 2 XE =0l Aate 6,278,400 6,278,400 0
OXgotdEHIANE (S22EA) 3,187,200
OXIot&HHIA (Ch & 2=3)) 211,200
OXlgiota EH| 1,056,000
Ot EHIAS (SZEF-AZ =) 1,824,000
NEH(SLER XS) OIXtate 456,000 0 456,000
311 XS0l Aratat 456,000 456,000
03 SLERALS0IXtate 456,000 456,000
OXl&otd EH| 456,000
KL (DIEIXLS) Ol Ktaf& 2,062,500 0 2,062,500
311 XS0l Rrate 2,062,500 0 2,062,500
05 JIEtA S SOl Attt 2,062,500 0 2,062,500
OXlgotE & 2,062,500
WA XIE 1,447,500 1,382,500 65,000
NP/ = Sl = U PRS2 1,447,500 1,382,500 65,000
705 O~ &S 1,447,500 1,382,500 65,000
04 Al - EXISHED IS0~z 0l Ktat gt 1,447,500 1,382,500 65,000
02021 Kot Ul =+ 17,500
OXILotEHHIAIS (E) 1,155,000
Ostal|ZAHE +8 82,500
OdEHotd S 192,500
HY2AZHI(GIEM) 41,100 41,100 0
[=ZHl(ata ) 41,100 41,100 0
Jl=Zl(atd ) 41,100 41,100 0
201 2= 19,200 19,200 0
01 AtR2t2lt] 19,200 19,200 0
Opotd g2 =& 19,200
202 04l 19,200 19,200 0




SN GHED
A HHHHHI(5HE D)
ool D=2 (otE 1) (S &)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
01 =WOdbI 19,200 19,200 0
Odtd g2 =& 19,200
203 PYRF=&Y| 2,700 2,700
M RA2IHRFALI 2,700 2,700
Octd g2 =& 2,700




